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Warning :-

INSTRUCTIONS

Ans\\el all questions,

- All questions carry cqunl marks.

Only one answer is to be given Tor vach quu;lmn
If mare than one answers are mar]\ed it wuald
be treated as wrong answer.

Each question has fbur alterniative responses

marked serially as 1, 2. 3, 4. You have te darken
the correct answer.
There w1ll be no ncgatwc markmg lor wrong

- ANSWeEr,
“The candidate should ensure that- Roll Number. -

Subject Code and Serics Code on (he Question
Paper Booklet and Answer Sheet must be same
after opening the envelopes. In case they are
differcnt, a’ candidate must obtain another
Question Paper of the same series. Candidate
himself shall be responsible for ensuring this.

‘Mobile Phone or any other electronic gadget in

the examination hall is strictly .prohibited. A
candidate found with any of such objectionable
material with him/her will be strictly dealt as per
rules.

The candidate will be al]owcd to carry the carbon’
print-out of OMR Response Sheet with them on’
- conclusion of the examination. : ] :
If there is any sort of ambiguity/mistake either
of printing or factual nature then out of Hindi

and English Version of the question, the English
Version will be treated as standard.

any unauthorised: material is found in
his/her possession, T.LR. would be
lodged against him/her in the Police
Station and he/she would liable to be -
prosecuted under Section 3 of the
R.PE. (Prevention of Unfairmeans)
Act, 1992, Commission may also

debar him/her permanently from all |
the
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Which. of the following is a directive principle of State- Pohcy ?
(1) To organize village panchayats

(2) Right to Property |

(3) Right to Education

(4) Right to seek fundamental right

ﬁmﬁﬁiﬂaﬁ@rﬁ?mmwﬁﬁrﬁ%maﬁ%?
(1) 7™ doEdl & §WeH BT

(2) fogm # PR

(3) TR @ sifusr _

(4) o9 AEed ¥ Oifber @ sfteer

2 Right to freedom of religion cannot be restricted on the ground of :
(1) Public Order '
(2) Security of state
(3) Incitement of offences
(4) Public morality

v # @ F emuR ¥ 9w T8 ed Rem s owEw %
(1) e o

(2) TRT @ g

(3) SUH W TEHE

(4) e R

3 "Right to Electricity" is a right to life and held in :
- (1) Mohan Lal V. Rajasthan Electricity Board
(2) Maneka Gandhi V Union of India
(3) AK. Gopalan V. State of Madras
(4) MK. Acharya V. CMD, WB, SE. Distribution Co. Ltd,

“fasell W ol AR B @S B oum ¥

(1) e o T TR 6

(2) FTET MW W WG g™

(3) T % MURE AW HEW T

@ wd oed TW WS ey, . ww. € frowowr @, R
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4 Match List-I'with List-IT and select correct answer -using the' codé ‘given
betow :

(a)
(b)
()
(d)

List-I

Dugait

John

Austin

Henry Maine

Roscoe Pound

Code :

(1)
@
(3)
(4)

(@)
(iv)
(i1)
(1)
(iif)

(b) (&) (@)
(i) @y (@
0 @) )
(i) (iv) (i)
(iv) Gy (@)

List-1I
(i) Social Solidarity
(ii) Social Engg.
(ili) Command Theory

(iv) Philosophy of Law

g1 w11 & gifea SRR Jen giedl @& R & w5z # a@
H W FW YU

(2)
{b)
(c)
(d)
%<

M
)
(3)
(4)

-1
e
TEN

ST

T

EUGa

(a)
(iv)
(i)
(0
‘(iii)

13/ LAW2_A]

s

® © @@
(i) (i) ()
@ @i (v)
(i) (v) (@)
(iv) () ©

qar-1I | ;
(i) WS Wil
(i) WS SEris
(iii) "Ry w1 fEEra
(iv) @A @ T
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Sav1gny has observed that :

(a) Custom precedes legislation

(b) Legislation must conform customary practices
(c) Custom. is not important than legislation

(d) Custom is superior to legislation

Select the correct answer usingl code given below :
Code : |
(1) (b} (o) and (d)

(2) (a), (c) and (d)

(3) (a), (bi and (d)

@) (a), (b) and (¢

afert 7 duim fem ¥

(@) T % qd of & wm

(b) B =ER & ogpa fEmr €@

(c) ¥ Rrarat & weel T

@ of R @ aha A 3

% RY T gz @ e A wh v PR

(1) (b), (c) X ()
@) (a), (©) 8% ()
(3) (2, (b) &R ()
@ (), (b) 3 (o)

3/LAW2 Al ‘ I (Contd...
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6 A non member of the United Nations can become a member of the state
of the Interpational Court of Justice |

(1) On the recommendation of the General Assembly alone
(2) On the recommendation of the Security Councit

(3) On the conditions to be laid down by General Assembly on the
recommendation of security council

(4) On the recommendation of Secretary-General

wawww%mmw%@:gzaﬁw
T & Tebal &

(1) oW HEEH & G 9

) FHaw g hwe @ gl W

(3) Ww&waﬁmﬁrwlméﬂrgwﬁﬂésﬁw

(4) wEERE B WA W |

7 Judicial review in Indian Constitution is based on
(1) procedure established by law
(2) due process of law
(3) rule of law
(4) precedents and conventions.
gy dfram § afie it emeRa ¥
(1) &F" & | & T o 91
(2)' Sha @ BHRE™ W)
(3) WL TN W
(@) it guen ot danH W
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8 A proposal when- accepted becomes :
(1) promise
(2.') contract
(3) agreement
(4) None of the above
TR yhifed & WM 9y

(1) ==
(2) et
(3) HIX

(4) vigw ¥ ¥ B¢ &

9 Al intending to commit theft enters the house of B at night and removes
from one of the rooms a box to the courtyard where he opens it. He does
not find in the box anything worth taking and leaving the box there goes
away. In this case :

(1) A is liable for hou'se.trespass
(2) A is liable for theft
(3) A has committed no offence

(4) A is liable for house tresspass and attempt to theft

‘m’fﬁfraﬂ%awmm%mﬁﬁ"a’%mﬁ-u&wm%aﬂ'{mw’{
@w@@,ﬁmaﬂaﬁmffﬁam%,ﬁﬁagaﬁ@m%leﬁaﬁ
%mwwﬁwﬁwﬁé%ﬁw%ﬁﬁaﬁwﬁm
UGH B IR BISHY T W L) 3@ AR N

(1) ‘o7 %aw we SR @ o &

(2) o < @ oG ¥

(3) a’%aﬁémgﬂﬁﬁﬁm%

@) & 7% AR W& 9l F yger @ e &

BILAw2.Al 6 (NG {Contd...
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10 Which one of the following is not essential element “of ‘section 34 of

11

IPC ?

(1) Criminal A.ct done by several persons

(2) Criminal Act done in furtherence of common intention
3) Pre-arrangé_:d .'plan between persdn doing criminal act
(4) Act done in furtherance of common object”

ydE aoE wa @ A 34 @ Frafata ¥ ¥ RN SRS I
oy P

(1) »% =afRrEl & ot g & fear St
() Aihe F@ WG A & erEy H 4 R S
() e W @Y AW wbwE oA gF FeiRa deen e e

(4) 9T SEe B oY wW ¥ fEw T s

The quorum for meetings of the House of people constitutes :
(1) 1/10™ of the total members

(2) 1/10 of total members of 100 members whichever is less
(3) 1/3™ of the total number

(4) 100 members

A @ oA B T Ay

(D) Wmaﬁﬁwmmoﬁ

(2) wm_ﬁﬁ@naﬂmoﬁmmm
(¢) P& gEEt & 1/3 &

(4) 100 W™

13/LAW2_A] 7 (NN 1Coned...
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12 The proclamation of emergency under Article 352, when Lok Sabha stands
dissolved, has to be approved by :

(1)

2)
)
(4)

Rajya Sabha and then it will continue till the reconstitution of New _
Lok Sabha which must approve it within thirty days of its first meeting

Rajya Sabha only
Lok Sabha in the next session of her 6 months

New Lok Sabha wilhin 6 months of its constitution

mw%%ﬁ'%ﬁﬁwﬁ&@f@i%z%a&hmﬁm
w1 eTHe e %

()

T T T AT SHE S TS Wil a9 ERT Swh yed dow
H 30 R & ofex wEal aRieT drm omavaw ¥

Had A 99T Z
W W B W A B ogyed o o ws N

ﬁﬁmwmm%wmaﬁ%ﬂﬂ?_

13 "What cannot be done dlrectly cannot be done indirectly”. This statement
relates to the doctrine of

(H
2
(3)
4)

Ancillary Power
Pith and Substance
Colourable Legislation

Implied Power

‘R wE # geea: ﬂtﬁﬁmmﬁwa@rvﬁaﬂaﬂﬂﬂﬁﬁmmm%y
uE wAT wEtug ¥

0
@
o)
@

geRTE SRR B R
R ud T ¥ Rram
T P ¥ Remm @
R o % Regr @

13/LAW2 A 8 BN [Contd...
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14 Possession through an agent or servant is an example sof:
(0 Immedié’;e Possession
(2) Incorporeal Possession
(3) Mediate Possession
(4) Corporeal Possession
st o1 Fom & W A FEO ST LK
(OB AR BN B |
(o)) | A B B
(3) =HETEq HEA B

(4) & wST @

15 Which of the following oreanization deals with refugee ?
(1) UNESCO
(2) UNHCR
(3) SWAPO
(@) EEC
Pt o A @ A do sl & wt b
(1) TR |
(2) W@Fﬁm
(3) T

4) =

-]
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ML (Contd...




13 13::13- 13 13 13 13 13 13 13 .13 13

16

17

B says to A'If you do not deny it I shall assume that horse is sound'.
A shall say nothing. Here A's silence is equivalent to speech. This is based
on '

(1)_ Section 17

(2) section 18

(3) Section 19

(4) séction 20 _

T W ¥ wE ¥ ‘wﬁwmﬂﬁﬁ-éa’rﬁmmwﬁﬁs
el wRy ¥ ar @@Hﬁm%laﬁ‘a’mgﬂma’rﬁ%%w%
g omeifa § ‘ |

(1) & 17

(2) HRU 18

(3) °r 19

(4) =T 20

Which of the following does not amound to fraud ?

(1)  Suggestion as fact-of that which is not true by one who does not
believe it to be true

(2) Entire concealment of fact

(3) A representation made without knowing it to be false, honestly
believing it to be true

(4) A promise made without intention of performing it,
Frefifeq & & o9w ez & B § 8 o &

(1) Wawﬁ,ﬁwﬁ%,u;ﬁswaéﬁmwwﬁﬁ
9% T

(2) Trdr 9= @ wheg w9 ¥ feumn

O R e R T T u——,
¥¢ 5 9w frem ¥, 9 wedyw won

(4) T B W B I @A AT gE o

13/ LAW2_A] 10 WU fContd...
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18 The right to private defence of property extends to causing death ‘when
offence apprehended 15 :

(1) Theft
(2) Mischief
(3) House trespass

(4) Dacoity

Mﬁwﬁw%mﬁmmmmuﬂmummﬁwm%ﬁm
¥ S P oorne @ oomsiw ®

RORR-t
(2) fife
(3) T e
@) =&

19~ A in India instigates B, a foreigner in Pakistan to commit a murder in
Pakistan B commits murder, in this case

(1) A is guilty of abetting murder
(2) A is not guilty of any offence
(3) A is liable of committing murder

(4) None of the above is correct

‘W YT ¥ W Eﬁra‘rmﬁmﬁﬁﬁwﬁ%s‘i’r% i | B BT A
9 qEd H

(1) ‘& T % gseeen oA ¥
() o PRl o @ A ¥
3) awwa‘\ﬂ’r%

@) swE § s dd T8 ¥

13/LAW2 AL o IR (Conto-.
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20 Amcle 21-A deals with :

(1) Constitution 43¢ Amendment
(2) Constitution 86" Amendment
(3) Constitution 70" Amendment

(4) Constitution 74 Amendment
o 219 P T R eRee % e § o
(1) wfram 4391 daem sifyfmam
() dhem sea wele e
.(3) e 7091 daltem atfufrm
(4) wfqum 7497 deiem afufem

‘21 Who said that '‘Ownership is entirety of the power of use and disposal
allowed by law'

(1) Hibbert
(2) Austin
(3) Holland

(4) Pollock

fog w1 ¥ B wfim ©e Wl afm ¥ el swi ofik Yavew @y
o5 Tty oo & =

() feeie

() enfes
(3) wms
(4) W

13/1LAW2_A] ol UG EContd...
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22 The United Nation enjoys immunities and priviledges in.'the tefritories of
its member states under :

(1) Article 20 of charter

(2) Article 104 of charter

(3) Article 105 of charter -

(4) Article 106 of charter
ﬁgﬁwﬁaﬁrmﬁw*%ﬁﬁﬁmﬁ@ﬁmw%l
(1) X % agD 20 § |

(2) WEX & AYHT 108 H
() =EI F igHE 105 H
@) =Y FH aTHE 106 |

23  Which one of the following is not provided in Section 4, of the Contract
Act, 1872 7 '

(1) Communication of a proposal
(2) Communication of an acceptance
(3) Communication of revocation

(4) revocation of proposal and acceptance

R efutw, 1872 @ a8 ¥ Predvfes ¥ Rewe wewme ¥7?
() W ® wgE |

) wREEA W OEGE

(@) wREET B TLTN

@ T R SR @ R

13/1AW2 Al B IEFANY (Conte-
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24 Disclosure of the identity of a victim of rape is punishable under :
(1) Sectioﬁ 376-D IPC, 1860
(2) Section 229, IPC, 1860
(3) Section 228. IPC, 1860
(4)  Section 228-A IPC, 1860
ErET & difsd & uREd weweT g o F avedny 2
(1) ar 376-31 WEd. 1860
(2) 9 229 WwzH. 1860
() T 228 WIE. 1860

4) v 228-31 wTH. 1860

25 Under Mitakshara School, the joint family property devolves on :
(1)  Succession
(2) Survivorship:
(3) (1) and (2) both
(4) Neither (1) nor (2)
ficia wgm ¥ of dywm wRar @ aafy Ry ol ¢
(1) waURmR %9 F
) G?R'. SIGH am
3y (D) T (2) I =@

(4) ()9 12 8

13/ LAW2 Al 14 [EKTIE (Contd...
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26 Formal sources of Islamic Law are
(1) Quran
(2) Hadith
(3) Ima and Qiqas
(4) All the above
aats fafr % olweie i
(1) ™
2) =™
() o w

(4) vugwm @l

27 Industry is defined under which section of Industrial Dispute Act, 1947
(1) Section 2 (gg)
(2) section 2 (j)
(3) Section 3 (b)
(4) Section 3 (j)

eifirs Rrar afufrmw, 1947 & ofla ofeifie faar &1 weuw foa
g W %7 '

(1) ¥R 2 (gg)
(2) &2 @)
(3) W13 (b)

@) 43 ()

13/LAW2 Al 1 WY (oo
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28 = Ilegal -strike: and lock out are prov1ded under ;. o '
(1) Section 22 of ILD. Act, 1947
(2)  Section 23 of LD. Act, 1947
(3) Section 24 of LD. Act, 1947
(4) Section 21 of LD. Act , 1947
(1) uwr 22 e Rxoan 1947 |

() w23 o, B e 1947
() T 24 o R e 1947
(4) wrw 2t oh B e 1947

29 The liability of an employer to pay comi)ensation_
(1) is limited } SR
(2) 1s unlimited
(3) subject to Employee Compensation Act
(4) Both (1) and (3) | |
 Prgm = W e a&qﬁi e @r&m o
(1) wiE %
(2) SEPm ¥
(3) wREHdl wABR eﬁhﬁm % WY @r \‘{1,31 %

@ (1 er (3) T

30 - Assault in order to outrage modesty of a woman is punishable under ;
(1) Section 363, IPC, 1860 o
(2) Section 509, IPC, 1860
(3) Section 511, IPC, 1860 .
(4) Section 354, IPC, 1860

ARSAT @l Wow W H wa'r%?r 'a‘!wﬂ a’us'rﬁu %
(1) o363, WM. 1860

(2) G 509, WEH. 1860

(3) © 511, MEE. 1860

(4) I 354, WITA. 1860

13/1AW2 Al | St HRNRR Contd..
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31, The Supreme Court of India in the case of A K. Gopalan Vs. State of Madras
- decided that the expression 'procedure established by law in.Article 21 of
the constitution means "any procedure established by law, irrespective of
its reasonableness or otherwise". Which one of the following approach did

- the Supreme .Court follow in the above case ?

(1) Positive law schoql approach
2) * Philosophical approach

- (3) | ISociongidal approach

B (4)_ .Hlstoncal approach

. %WWQ%WWWW%W!%%
_j'mﬁsaﬁm%zlﬁaﬁzﬁﬁfﬁmwﬁauﬁﬁmwaé%“ﬁﬁ
g Rfew wg o wfmn swe giegwn @ R feg fem ar e
"gm-aﬁﬁmwﬁﬁﬁrﬁrﬁﬁﬁﬁﬁmﬁﬁﬂnﬂmmw
SR SRS '

Q) wmﬁﬁmﬂam

(2) ms‘rﬁwﬁﬂr{w

) wwa farm

NG ﬁf%mf#ﬁﬁﬁmwm

32 . Protection of wxld life is an OBjeCthE: expressly stated in whlch one of
. the followmg ‘? : v

(1) -_ Dlrectlve.'_prmciples of state policy
(2) Fundamental duties
-' .(3) Eleventhi schedule to the constitution

4) Fundamental rights.

: awwﬂa‘rammawﬁwrﬁiﬁaﬂﬁ@rﬁﬁ@r@ﬁm ﬁféﬁa'&sa%?
) m%ﬁ’lﬁrﬁ%maﬁ

'(2)- kS ﬁw

() aﬁruﬁ I waER a-g:qﬁ’r
@ woeex |
COB/LAWZAL U NI tComea.-
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Match List-I with List-II and select the correct answer using the codes given
below the lists : :

List I . List II
(@) Duguit (i) Social solidarity
(b) John Austin (i) Social engineering
{c) Henry Main | '(iii) Command theofy
(d) Poscol Pound ' (iv)- Historical school |
Code : | |

@ &) @© @
1) (@) @iy G) @)
@ ) @ i) (@)
G) @) (@) Gv) (i)
@) () Gv) () @

@Iﬁ@—négﬂrﬁmzﬁrﬁqam@ﬁaﬁﬁﬂﬂmywm .
W T T YR

F-1 qgh—u |
(a) e () wnfse ¥
() ST aiaRe (i) wie sy
© ¥em (i) S e
(d) TER Urave - (in) Umie feramamr

BT
@ 0 © @
M @) G 6@ 6
@ () O G )
G O @) @ G
@ G @ @ 6 | |
13/ LAW2_.A] ‘ 18 m|||||||||mmll [Contd...
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Who among the following is considered an exponent of utilitarianism‘ ?
(1) Hobbes

(2) Davd Hur;ne

(3) Grotius

(4) Bentham

frfvfgq & & swdifeEe & yoads S T o § 7

(1) =fed

(2) sfos =m

() wsla"

@), it

35 Who has said than, "I do not regard it as necessary to formulate a definition
of law”, ' '

(1) Bentham

(2) Austin

(3) Olivererona

(4) - Hagerstrom

ey me fr “q Rty @ ofonive won savrs T W
(1) s

(2) oS

(3) efwaGhR

(4 T
13/LAW2 A} 19 ERIMNN (Contd...
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36 Which of the following statements with regard to the definition of industry
is/are correct ? :

(a A béok shop is an industry

(b) A cooperation milk society is an industry

¢y A -%dg{?(l/fk labour board is not an industry

(d) A Hair cutting saloon is not an industry

Select the corréct answer using the code given below :
(1) (@) (), (0) and (d)

(2) (b) and (d) only

(3) (a) and (b) only

(4} (a), (c) and (d)

Prffe & § R-TU FO S@ @ TR ¥ e ¥
wh Rk 2 |

() UEE @ gHE 9 &

(b) wmr&grumi’rmﬂn%
(c).ﬁmﬁa'{iﬁ%?a’m*ré’f%

@ e A g vy
%ﬁ%ﬁqﬁg?ziﬁrmﬁ@rwyfﬁq:
(1) (@), ®) () R ()

...(_2) Fae (b) AR 4

@) ¥ (a) I B)

@ (@), (@
13/LAWZ_A) o R (Cone.
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37 Match List-I with List-II and select the correct answer using the code given
below the lists : _

List-TI
(Section)

0 20
(i) 2 (00)
(i) 2 (kkk)
(iv) 2 (k)

wﬁmlaﬁq;f?rnﬁrgﬁrﬁ-ﬁaﬁﬁﬁaw@ﬁaﬁﬁ%ﬁﬁw@ww

List-1
(Provision)
{a) Lay off
{b) Lock out
(¢) Industrial dispute
(d) Retrenchment
Code
@ ) (© (@
(1) @) Gv) (i) @)
2y ® @ G Gv)
(3) (v) i) () (@)
@ (i) @ -@Gv) ()
& T I G
-1
(et
(a) Sl g
(b) G
(¢) olelfe frewm
(dy B
He

M
2)
(3)
(4)

13/ LAW2_

@ ® © @
iy (v} (i) (@)
i @) @i (@)
Gv) (i) (i) ()

(i) (@) (Gv) ()
Al

T—11
(ewr)
@ 2@
(i) 2 (m)

(i) 2 (€ 2 ¥

(iv) 2 (3

ot
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38

39

In which one of the following cases was it laid down than presidential
proclamation dissolving a state legislative assmebly is subject to judicial
review ? '

(1) AXK. Roy Vs Union of India

(2) S.R. Bomumai Vs Union of India

(3) State of Rajasthan Vs. Union of India

(4) Maneka Gandhi Vs. Union of India

Frrfefed & & Rew we A N ue sifumfm fear wn & T eeufa @
T B FyygmEm S $1 wE B SrEwen At gAafiwea & ererda 7
() U % I W 9T "9

(2) UH. 9. drEg 99 9RE 99

(3) IR TFY ¥9H ¥R €9

(4) TIHT TR H WRd Y

Which of the following is the effect of a unilateral declaration by a state
to accept the principles of a treaty to which it is not a party ?

(a) The state becomes a party to the treaty '

(b) The state becomes bound by these principles

(c) . The state will have an obligation to become a party to the treaty
(d) The declaration may create estoppel against the state

Select the correct answer using the code given below

(1) (b) and (d) |

" 2) () and (b)

(3) (a) and (d)

(4) (c) and (d)

TH T B TRl wty & e 98w A ¥, e @ wfeen '@
H UGYAd O % reied N W SIE WHE e ?
(a) o SO Gy @1 9y 9T S|

(by g 39 fogidl ¥ omam & WA

(c) T qex BW T I Wiy & UH ug g A
(d) IgEwom T % faew T ¥R wY @ §

T RY U ge @ TR &Y W ST g

(1) (b) R (d)

(2) (a) @ (b)

(3) (a) & (@)

4) () 3T (@)

13/LAW2_Al 2 NNWITh (Coned..
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The divorced daughter of the Hungarian diplomatic agent in Indla comes

to India as a tourist, She causes a car accident and thereby a person is
killed. | '

(1) She cannot claim immunity in her defence

(2) She can claim immunity in her defence -

(3) Case will be started when diplomatic agent will leave this countly' '

(4) None of the above

T & ok giaffy @ aerwgan gl are ¥ uw vhew & v A
ol TR u A gden ¥ w wf @ ug @ o ¥

(1) <& S W & @ sifyeeraell &

2) T SR W wr @ el ¥
(3)Wﬂﬁiswﬁrﬁfa%u€%wmﬁ%wmmﬁm

(4) TUUR N § wiy

Consider the following statements :

For making occupier or owner of a land liable on the basis of strict liability
rule, certain essentiai factors are: :

(a) Keepig of a dangerous thing on his land

(b} Escape of thing from his control

{¢) non-natural use of land

(d)y Use of thing for common benefit

Which of the statements given above are correct '?
(1) (a), (b) and (d)

(2) (a), (b) and (c)

(3) (a) (¢) and (d)

(4) (c) and (d) only

Frefrfa @l w R Ak

%@r%{ﬁxﬁaaﬁ%ﬂvﬁmwﬁrﬂm—mmﬁa%eﬂmwww

% fou wiywg smaws @ ¥ -

(2) ST H T TAE® agg TG
(b) o B IqH FEAFOT ¥ /L A
©) g & G STEE

(dy s g & ag & SwEm

SR ®U ¥ B w8 ¥ 7

(1) (a), (b) 3 (d)

) (). (b) 3 (o)

) @, (@

@ AW (¢) o) (d)

L]

o e
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Two dogs belonging to two différent persons, actmg 1n concert attacked -
a flock of sheep and injured them. _
Which one of the following is the correct statement ? In an action for
damages :

(1) One of them i is liable for one-half of the damage caused by his dog

(2) Each of them ‘is liable for full darmage caused by their dogs.

(3) None of them is liable - . |

(4) Each of"them is liable for proportional damage caused by their dogs

&l STerT—oreTT Sl % & P 7 WSl B TP YOS X WIHd ®Y F SIEHHY

mﬁWWMIﬁmﬁmaﬁ%ﬁﬁmwmaﬁ%?wﬁa%

FEaE ¥

(1) mﬁgﬁr%mﬁﬁqnﬁw%mmﬁwaﬁﬁw@rw_
% fg et ¥

@) mﬁmmwwwﬁmwﬁaﬁﬁmﬁﬁ-

waE T T
3) ﬁﬁ@faﬁs‘ﬂﬂmﬁr‘—r&f%

(4) mgﬁﬁ%mmmwﬁ%ﬁma@qﬁzﬁm%ﬁmﬁm
arz?r%

Even if the harm to the plaintiff has been ‘caused maliciously no action
can lie for the same unless the plaintiff’ can’ prove that he has suffered
legal injuries. .In which one of the following cases was thlS principle
enunciated ? ' '

- (1) "Re polemis case

(2) - Bradford Corporation Vs Pickles

- (3) Jozwick Vs Sadek

(4) Rylands Vs Fletcher

ﬁaﬁﬁﬁhﬂjﬂﬁm@ém Wﬁ@%ﬁﬂqmﬁ
ﬂé’raﬁmaﬁmwa@waﬁmqméﬁﬁa@rﬁﬁxmaﬁr

qﬁﬁﬁwﬁrﬁwﬁ@rﬁﬁ%wmﬁwfﬁmﬁuﬁuﬁﬁﬁw
T ?

1) ¥ udife aw

(2) FHE BNRTT T e
(3) wRE S giaw

(4) TuEvs TW WER

JlarLawzar % I Fcontd...
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44 The display of articles in a showroom indicating the prices amounts to

Offer
Mere advertisement
Counter offer

Invitation to an offer

-ﬁﬁ@féﬁmﬁmﬁﬁm_aﬁwéﬁmw

o
@
3)
@

TR §
Haw P ¥
WA ¥

45 X purchased a bag of whedt and'by mistake left it in the house of his
friend 'B'. B's wife started using wheat from the same bag. What remedy
does X have against B ? o

(1)
(@)
3)

4)

X can claim compensation from B
X can demand from B a bag -of wheat. |

X and B being friends, there cannot be any contractual rlght of
obllgatlon

X can demand the price for the bag of . ’\»rl‘m’q'

X % ¥ @ 0 40 @ AR W ¥ owy B B ¥ W o R

Bﬁﬁ%mﬁ%%WWWWWMtXWB%

e o« Svar §°

(1)
@
6)
4)

13/LAW2 Al . B | RN (contd...
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46 Dlrectlon The followmg items consist of two statements, one labelled

as. the 'Assemon (A)' 'and the other as ’Reason (R). You are to examine

these two statements careﬁJlly and select the answers to these items using

the code g,wen below

Assertion .(A‘) '

- Reesen (R)_'_-:
“.. - “put him in the same position in which he would have

In the event of breach of contract the aggrieved party is \

- ‘entitled to recover compensatlon for the loss or damage

which is: caused to him by the breach of contract.

T__he_ebjec_t of awarding damages to the aggrieved is to

been if the contract had been performed. Damages are,

X therefore assessed on that basis.

(1) Both (A) ‘and (R) are true but (R) is not the correct explanation

o of (A)

. '(2') ._;'(A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and R are true and (R) 15 the correct explanatien of (A)
o R ™ v W 3 geaed T TE BOBEA (AY T GEL @ BT (R)
HET T ¥ | 3 AN gl B GEUFIEe IO BT SH U B Sa
I R g g @ g ¥ ghw o

BT (A)

& (R)

dfrer w93 v e g W @ o
T JeeT & G Rt @ agelt F @ g 2|
i we # T bl wo @ sker e
wat Refe ¥ w@m ¥ Rred T g @l @t & awe
feran e | gy Jer 38 naR W il @ e 2

(1) T (A) T B (R) T T E, TG R), (A) F W@ TR

(2) (A) T8 3, g (R) o ¥

(3) (A) T T W (R) 9 ¥

(4) ‘qw?r(A)ai'l'{W(R)a?ﬁG’é‘r% 3T (R), (A) =1 @&
el &

13/ LAW2_A]
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47  Consider the following statements :
(a) A muslim contracts marriage withhis sister is void
(b) A muslim contracts marriage with his father's sister's daughter is void
(c) A muslim contracts marriage ‘with his grandmother is void
(d) A muslim contracts marriage with his daughter is void

Which of the above statements are correct ?

(1) (a), (b). (¢} and (d)

(2) (a), (b) and (d)

(3) (a), (c) and (d)

(4) (a) and (d)

Frefrfes ™ fER #f

() TE e & o g5 ¥ Ram s w0
(b) Tk HRew w1 s Rew A oweT B G & Wy REw g dand
(c) ww gRE9 ® AT IR F WY Tyaw g o ¥
(d) wE JEW & U g b wi REw g s ¥
IR A ¥ -9 wue qd ¥ ?

(1) (2, (b), (¢) & (d)

@) (@, (b) T (&)

(3) (a), (0) & (d)

@) (a) &R (d)

48  Which one of the following schools is not the sub-division of the Mitakshara
school ? '

{1) The Dayabhaga school

(2) The Mithila school

(3) The Dravida or Madras school

{4) The Benaras school

Frafafae § ¥ aF-d fraeg smen & Su—smen TE ¥
(1) T g |

(2) Tofmr smen

(3) RIS 91 WEW ST

(@) IR o
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If actus non facit reum nisi means sit sea is a basic ‘principle of criminal
law, then which one of the following statements correctly reflects the above
prm01p1e ?

(1) Mensrea is an essential element of a crime and there can not be a
crime without mensrea

(2) Criminal liability under Indian law always implies mensrea
(3) To constitute a crime there must be actusreus and mensrea
(4)  Actusreus is not always necessary to -constitute a c¢rime

e wE B w Aqell @ s9Er, gl Sger w9 e}l | e O
%W%mmﬁ@m%eﬁﬁwﬁﬁwﬁaﬁwmm
fagra @ ufafaiag wear &7

(1) ot wRafy sy &1 emasas o & 9 et waRafs
% & wis orguy 9@ ¥ owwmdr

(2) v Bty ¥ e ot ¥ emrifis W Ref ¥

3) W%Wﬁaﬁaqmmm@aﬂmﬁzﬁm:ﬁaﬁaﬁ@m
CICELC

4) ma%m%mmﬁwmwsﬁwmswﬁ%

‘Where the accused, in exercising the spirit of a girl whom they believed

to be possessed, subjected her to a beating which resulted in her death.
For which one of the following offences can they be prosecuted ?

(1) Murder
(2) Homicide caused by rash and negligent act
(3) Culpable Homicide not amounting to murder

(4) Causing grievous hurt by an endangering life.

ol gl Y uw wedl ¥ S @ qd Ya fres R ¥ ok fivaw

o 5 A WeR WX oM §U ¥ omEw @Y ¥ Rig 98 wro-de, fred

_Wﬂ%ﬂé‘rmﬁlﬁﬁrﬁrﬁﬂﬁﬁwma%ﬁﬁva%aﬁmﬁﬁﬁﬁﬁmw

et &7

(1) @

(2) STRNYY X SV A BN FG AME qY

() o AFE A S g A B A e

@) @ FE TR AR STER FhE B fd el s o e
® WY “

13/LAW2 Al 28 |l 1coned...



13 13 13 13 13 13 13 13 13 13 13 13
SPACE FOR ROUGH WORK / = @1 % fordl e

L

13/ LAW2 A A HIBIE Coutd..



18 43 48 13 13 43 13 13 13 8 i3 13
SPACE FOR ROUGH WORK /%= & % ford wie |

3/LAW2AL 30 I (Conto-.



13 13 13 13 13 13 13 13 13 13 13 13
' SPACE FOR ROUGH WORK / &= ™ % iy W@

13/LAW2 Al 31 [AEHENITEG teontd...




13

19 13 13 13 13 13 13 13 13 13,

13/LAW2 A} Y 11—

SPACE FOR ROUGH WORK / %= &M %s ﬁlﬁ TE

e -

[y .
l‘"
-

! : - o 3



